PROBLITZ AIRMOVER PARTS

No. Product Name Qty List Price
1 510141 Switch & Knob Assembly lea. $ 938
2 833658 Inlet Grill 1 ea. 7.00
510551 Inlet Grill with Outlets (ProBlitz XP only) 1 ea. 14.00
3 820563-7 Screw, Type AB #10 x %" 1 ea. .05
| 4 833673 Threaded Inserts - Housing 1 ea. 7.47
7/ 5 820563-7 Screw, Type AB #10 x %" 1 ea. .05
6  820563-13 Screw, Type AB #10 x 1" 1 ea. .05
7 510140 Wheel Assembly (ProBlitz XP only) 1 ea. 11.45
8 820563-7 Screw, Type AB #10 x %" (ProBlitz XP only) 1 ea. .05
9 833690 Foot Bumper 1 ea. 8.43
(Only four (4) required for ProBlitz XP)
10 820563-7 Screw, Type AB #10 x %" 1 ea. .05
(Only four (4) required for ProBlitz XP)
11 833659 Exhaust Grill 1 ea. 5.88
12 833674 Motor 1 ea. 119.14
13 833675 30' Cord w/Plug 1 ea. 27.88
841368 25' Cord w/Plug (ProBlitz XP only) 1 ea. 43.46
14 833660 Blower Wheel 1 ea. 32.44
15 833691 Retractable Handle (ProBlitz XP only) 1 ea. 31.43
16 820563-7 Screw, Type AB #10 x %" (ProBlitz XP only) 1 ea. .05
17 833657-1 Housing (left side) 1 ea. 23.38
18 833656-1 Housing (right side) 1 ea. 33.25

51





